< WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date

PP97082 10.06 null z 11-FEB-97

6C8.3, C GAS PLUS CM556, G8.3, G8.3 CM558, GTA8.3 CM558, ISC CM2150, ISC CM554, ISC CM850, 1ISC8.3
CM2250, ISC8.3 G CM2180 C101, ISL CM2150, ISL CM554, ISL CM850, ISL G CM2180, ISL8.9 CM2150 L110, ISL8.9
CM2880 L112, ISL9 CM2150 SN, ISL9 CM2250, ISL9 CM2350 L101, ISL9 CM2350 L111, ISLE4 CM850, L GAS PLUS
CM556, L8.9, L8.9 L121, L8.9G CMOH2.0 L125B, L9 CM2350 L116B, L9 CM2350 L119B, L9 CM2350 L120C, L9
CM2350 L123B, L9.3 L105, L9.5 L117, LON CM2380 L124B, QSC8.3 CM2250, QSC8.3 CM2880 C102, QSC8.3
CM554, QSC8.3 CM850(CM2850), QSL9 CM2250, QSL9 CM2250 L115, QSL9 CM2350 L102, QSL9 CM2350

L107, QSL9 CM2350 L118, QSL9 CM2350 L122, QSL9 CM554, QSL9 CM850(CM2850), QSL9 G CM558, QSL9 M
CM2250 L106, QSL9.3 CM2880 L113

Engines

PP97082 Turbocharger Watercooled turbocharger for...(More)
6CTA sea water aftercooled
engines. Rear mount
turbocharger location with
side out exhaust on exhaust
side of engine.

3802639 Turbocharger 1 H2D

3535043 Turbocharger 1
3502017 | Clamping Plate 3
3502231 | Oil Slinger 1
3503347 | Flat Head Cap Screw 3
3503668 || Oil Baffle 1
3504413 | Turbocharger Bearing 2
3518004 | Lock Washer 8 M6
3519163 | Drive Screw 2

3522232 || Shaft Wheel Rotor 1



https://qsservices.cummins.com/qshd/feedback.php?productid=1

3523227 | Clamping Plate

3523542 | Thrust Collar

3523613 | Turbocharger Thrust Bearing

3524262 | Hexagon Head Set Screw M6 X 1.00 X 12

3524997 | Turbocharger Compressor Impeller

3525004 | Compressor Housing

3525199 | Turbocharger Bearing Housing

3525562 | Dataplate

3529846 | Turbocharger Heat Shield

3503678 || Reducing Adapter

3523049 | Banjo Connector Union

3526038 | Turbine Housing

3533760 | Banjo Connector Screw

3755947 | Sealing Washer

3709753 | Retaining Ring

3756754 | Split Ring Seal

3758848 | Split Ring Seal

3759917 | Hexagon Head Set Screw M8 X 1.25 X 12.

3760250 || Lock Nut M8 x 1.25

3762449 | Retaining Ring

3762564 | Oil Seal Plate

3762915 | O-Ring Seal

3921926 Turbocharger Gasket
3519807 Turbocharger Gasket Holset P/N 3914388

3902662 Hexagon Flange Nut M10 x 1.50
3907978 Stud M10 x 1.50(Both Ends) x 50



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

